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E fo = 20% foee = 3.7% £ for= 29% E
= Nowe = 737 Koo = 439 == N, = 109 3
=t = 15.7h e = 1970 IE e = 14.6h =
== Average albedo = 10.22e—-06 == =
= Latitude = 45-50° —_- —
E Al = 7.38(+2.8) =+ =
E fe = 1.2% =+ =
= N = 48 = =
E  ty = 1470 3
= —_- Latitude = 60-65° —
= = 8. S AL = 9.72(46.2) =
E = 0.5 = = 0.7% E
En = 20 = N = 28 =
E  tye = 1500 == i = 15.2h 3
= Latitude = 65-70° —_- Latitude = 70-75° —
S Ase = 10.53(£5.3) Ay = 12.06(23.1) ZE Ay = 9.70(£4.3) Ay, = 12.86(£34) =
Eof= 1.1% jooe 12% £ fo= 22% oo = 1.5% 3
= Noe = 45 Neewo = 4 == Nii = 99 gesc = 40 3
=t = 15.5h ty = 0.4h ==t = 16.1h tyee = 23.90 3
E Al = 9.79(£2.1) Ay = 11.56(£2.2) _=F_ A, = 10.38(£2.3) A,.. = 10.95(£2.8) _=|
E o fo= 37% foe = 41% = fo0 = 52% = 50% o
= New = 214 Noese = 196 = = 99 3
E teee = 17.2h X desc = 2270 == = . =
= ZE, 3
—40 80 80
Days from Solstice
N00019_y2014t2_abs_sza_siglp6.unf threshold = 1.6x0,,,(SZA)
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